Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

GLAZED MOLDED OPEN
FIBERGLASS DOUBLE DOOR
w/ or w/out SIDELITES

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal o or less than the design

pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part

numbers. These door panels must be stained or painted within six months of

installation.

oA

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections (2X Buck}
Vertical Cross Sections ({Thresholds)

Frame Anchoring

Hardware Details

Lite Frome & Glazing Details

Bill of Materials & Components

Slojmi~jo ol fuwirno]—

Sy Ty T vy
’&%\'\‘{"‘W‘ﬂl\é ui
Sy H 'm
;5?’%"?‘::@ “"if?’i’/ ~ t-?"
(Po TR tjEgE , Ea
£ B w|ti g B
Evee AR
duieiied 58 Sa
/ / 4o V@’ '*.ZO".( gg £ .o I,
3, o 1At PR Z22 386
G 32 5 538 pEg
b o Freaen K
x fel b x RNt e 205 5
Treaas 5 S8R, Eg
o 2 Eg W
4 Zmy O
/ I 5 g 2 o
a 2g6 2
g Bok < =
= S g0
2 n
XX 5 g
. : R i
b3
[ 75
La}
&85
149.5" MAX O.A. FRAME WIDTH o gi
37.5" MAX c°<§ 2%
. . . = Sz
ERAME WIDTH 74.5" MAX. FRAME WIDTH T |5 28
=3 |2 gy
[CH 1]
T I (7]
I
/ / / / 5| © |8 £2
g o =
£ Z AR
<3 <f
T 2=
< <
28 =3 O i X |°e X O
T Om ©
oW N
Z ®u
> < i
o 2
4/// /4/// ,/,/// // %
o
1l
e | |
L
<C
0
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) =
CONFIGURATION LOCK TYPE INSWING OUTSWING z
POSITIVE | NEGATIVE POSITIVE | NEGATIVE DATE: 5/27/21
SCAE:  N.T.S.
LATCH & DEADBOLT +55.0 -65.0 +460.0 -60.0 DWG. B:  RW
XX, OXXO CHK. BY: LFS
MULTIPOINTLOCK | +60.0 -65.0 +60.0 -60.0 i
TX=5211

SHEeT _1 oF 10

© 20271 R.W. BUILDING DONSULTANTS NG,



-12" - : ’ uj
EXTERIOR Eﬁl 2% NOTE: BOOK, HYBRID & UT DOORS S0E . ot .
% — MAY EACH BE FABRICATED AS WOOD S TRg e 22, EY
. =8l [ OR COMPOSITE EDGE DOORS. Sl £* @ um
D % 2 > Bl 257 % 9y g8 of
T T7 T l e 2 g SRR
i f , —— ::: L / %gééj §é ggg gz
: 2 S 5 £ 2tn 20
<= INTERIOR WV O, £F Eig 92
w — . I's L 2>, 0
HIN/GE STILE A \: LOCK BLOCK LATCH STILE TOP RAIL TOP RALL ?ffzf % 2gk %;fé
(ENGINEERED WOOD) m HORIZONTAL CROSS SECTION 12.5' LONG (WOOD) (ENG. WOOD) (COMPOSITE) (COMP./ENG. WOOD) - & OV ol
\_2_/ WOOD EDGE DOOR PANEL 3 287 b,
g 955 a0
0.41' RS I G2 G‘l ]’88" Fovert— ].2" ] ‘ g:) a ﬂ: { g ’(‘
1.2~ EXTERIOR " . =P
= N . = o P S
R SN e : = SS : R SN , S @ 3
" T D 7 ) T T FOAM CO{ FOAMCORE || - <
N R L , COMPOSITE ~ Y~
/ \ / , \ CAP o Rt
COACA/P\(SS”E HINGE STILE an il IERICR A= LOCK BLOCK LATCH STILE SR N « | 2
(ENG. WOOD) /" 2"\ HORIZONTAL CROSS SECTION 12.5'LONG (WOOD)  (ENG. WOOD) A =8 Ly
\2_/ COMPOSITE EDGE DOOR PANEL S T
TR fia]
36" MAX. DOOR 35.81" MAX. DOOR 35.81" MAX. DOOR Ei ‘ Ea |3 &
PANEL WIDTH PANEL WIDTH PANEL WIDTH (R 19 g
s s s == I
= pon
2 2 2 § E
o o 0.
! W
|\ U =
1 2\ 20\ INTERIOR EXTERIOR INTERIOR EXTERIOR o
\2J ST N\ 1 I 2N o
/" Vi Vi
/ / / @@
¥y [ [um]
= th & n o i 2
o s g s g 3 s 5
o i 1 —
: X | & X |t s X |° =
A ® a @1 a ® SRR/ L
= 2 [ b FBERGLASS SKIN " FIBERGLASS SKIN
< < < ENRE/ I
= > = o
8 / 8 / 3 / A
o ; & : & . . "
in z =
4 / y - : :
/ / / _
O
BOggm}fAlL ' BO](—:TOM RAIL Ak DATE: 5 /27 /21
( ) (COMP.) scaE: N.T.S.
—~— 17" —— — 1.7" — DWG. BY: RW
40\ FIBERGLASS DOOR PANEL 47 ) FIBERGLASS DOOR PANEL 4\ FIBERGLASS DOOR PANEL
BOOK DOOR HYBRID DOOR U1 DOOR o B: __ LFS
MOLDED OPEN MOLDED OPEN MOLDED OPEN 7“3\ VERTICAL CROSS SECTION /"4 \ VERTICAL CROSS SECTION DRAWING NO.:
FIBERGLASS SKIN: 0.073" MIN. THK. \2_/ WOOD EDGE DOOR PANEL \_2_/ COMPOSITE EDGE DOOR PANEL TX=5211
FOAM CORE: POLYURETHANE -1.9 PCF MIN. swer 2 or 10

Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

© z021 r.w. BuiLping ConsuLTANTS ING.



—1.2"~ 238 — s
g3 2o
ES & B
7} .9 Z
N Ny O o7
X o = G G
s8 gr5 2T
3% g 8o 5 %
5 538 mE
- 2%s 4%
HINGE STILE LOCK BLOCK LATCH STILE TOP RAIL TOP RALL . &g8® s
(ENGINEERED WOOD) 12.5"LONG (WOOD) (ENG. WOOD) (COMPOSITE) (COMP./ENG. WOOD) § 895 kg
\_8_/ WOOD EDGE SIDELITE PANEL P OZa, oy
2 245 0O
e I e ‘ G2)¢! ~—1.88" ——{[=1.2" =~ £ 3§ g%
— 1.&" = = EXTERIOR (=< — 0.4" 2 £
: T : 7T A ; R R R T | = >
n ey ﬂ E j D SRt I | 4 FOAM COE PR FOAMCORE |+ - °
: _ - COMPOSITE ’ T~
; \ il \ B 2
INTERIOR et 9
COAéPA(F?S”E GE STt R E] = LOCK BLOCK LATCH STILE o o §
(ENG. WOOD) /"2 "\ HORIZONTAL CROSS SECTION 12.5'LONG (WOOD)  (ENG. WOOD) 23| ©
\_3_/ COMPOSITE EDGE SIDELITE PANEL D
3 |3 F
. 36" MAX. A 14" MAX. 2REMN
PANEL WIDTH PANEL WIDTH —|  |=—046" I8 %J g
3V 40 -
3 3 ? nVanenVay § <18 %
>/ B 8 &
1 D 22 e N
@ 7 N 4 | EXTERIOR ]
/// 5\ STILE
/ INCVARIN (WOOD) /5™ HORIZONTAL CROSS SECTION
z & \3_/ 14'SIDELITE
0 = : 2
o z AR a2
e %)
: 0 = o :
. > TOP RAIL — [ e
z < (WOOD) o !
= = . FIBERGLASS SKIN
O~
& o 9
N R =
N~
/ INTERIOR EXTERIOR
/// - i i =
’ x Pt =
/ y /// o o 0
AR '.:\77 V RRES | 1 %‘
tzl— = BOTIOM RAIL—" |[ ] ;  BOTIOMRAL—"|[ o 5,/27/21
(COMP.) - b (COMP.) - o NTS
FIBERGLAS ) ELITE PANEL T M e A
50 J36 siDeE m?OD o: éowosmz EDGE) ‘—————fﬂeﬁﬁ)ﬁfﬁ NEL m VERTICAL CROSS SECTION ‘ cHk. B:  LFS
MOLDED OPEN MOLDED GPEN (S Hesoar | @ VERTICAL CROSS SECTION /4 VERTICAL CROSS SECTION o
FIBERGLASS SKIN: 0.073" MIN. THK. 3/ WOOD EDGE SIDELITE PANEL 3/ COMPOSITE EDGE SIDELITE PANEL -
FOAM CORE: POLYURETHANE -1.9 PCF MIN. TOP RAIL SHOWN (BOTIOM RAIL SIMILAR] N/ sHeEr 3 oF 10

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6’8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

© 2021 R.W. Buitoing ConsuLTaNTS INGC.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

P

4-1 I T q
4// 4// 4/// //// 4///
4
X el X O (5 X el x
ol \&/ N5/ 18] \3/
SEE HARDWARE SEE HARDWA!@
CHART CHART
//// //// /// ///// /////

Fiber-Classic/Smooth-Star Door Panel Options

Products approved include all embossed and recessed panet doors.
Similar glazed panel configurations are allowed.
Panels shown are for illustration and are representative only.

SO, uj
A».:??:@ ol %’QE 1 =8
ot ".“‘E pue E’N. .’\_ . +5 < 7]
Zal S IO [ T
w‘f{""‘ 3l Oiw £* 0 Z-
g AL R Y Ay ¢ B o7
5 Juieatd iz 2ixf o 2 B
g O it : d b SE O
s I iz i3 & s £h5 23
q e, 191 X 38 289 33
Hé, 18D L SF BEZ BE
7 S S S Y 336 fg
y A2 o oy
4 Minndoes™ s 8R% sh
® ON s nm
T % 3z w
£ 5% %6
[°] 4 5 n
& 502 g 'p_‘
£ m§ 83
B ™
LR g
(8]
0 [®
g 5
S
20
ES 2
/ 4;83, > »g
4// QE:S @ %
/ te |23
Eu ol ©
mn )
I~ o
P d g &
. S] &
(3 (4 & |&
\6 b/ >
o
0
z
Q
%]
o
o
=
<C
o
NOB: S
SCHLAGE ;EI?DBOI.T' :55:: =
: DATE: 5/27/21
KWIKSET KNOB: SIGNATURE SERIES SCALE:  N.T.S.
DEADBOLT:  SIGNATURE SERIES (980) wo. 5 RW
HOPPE | MULTIPOINT : MPDGSB cHk. B:  LFS
(THERMA-TRU) (3 pt. Manual Shootbolt) DRAWING NO.t
TX-5211

SHEET _4 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



TON] SLANVLTINSNGID aNIaming "M'e L2022 @

Z68L1—d4 # NOUVAHLSIOIM 40 ILVOLAILLYID

SNOISIATY

(ong XzZ) SNOILOIS SSOHD

SHAINIONT TYNOISSIJ0Md 40 Juvod SvxX3l A8 i
WILLYFA % IVINOZINOH AV N Sl slzlo] < |2
LE1B°6G9°CLE ON euoyd 3 N ] ~ | w
GBGEE "4 OSWIDA 0€Z xog .O.ag\&. ‘ATHN3SSY d0 1dvd _nU m . n:zu ©
*ONI ‘SINVLINSNOOD ONIdTNg N z | 5'
4000 SSVYI9¥34dld 0 slo X
=z -
€ZTLYOL# "I'd SvYXaL NAL—VNYIHL Eld el w &
-y e . . h
T'd IPIUYDSS 4 uopuk :Ag pedodeld sjusuinooQ :L0NAa0dd HEIHELS %
/289
3
=
S
7 LOIWHOS 4 NOONAT 2 = \L
arasaseraTEasa Rt ATLeOvieteesyIniny =
A Y. o S x& < /
Lo Y ?u& & e z - "
£ M» ﬂ. ‘w' RN_W: ¢ K 2 vm. nﬂ(‘ < . L A oMo“omu“o”o”nMo”o“omn“o“o“
9y &, T Yo SIREN SRR o
45, 9%, .n..xv ot o 005000000000 e
NI A a o~ e O
e k. e .Mw o e soueadistoorol [274 v
Ly e 00000000000 m N ,ﬁ’u
| zl O
V| | - R = =B
. . AR R N . L . oL 0@00500065000000000000000 000VCHBORO0O (72
. GO0 0T0000000 GOGDGDODGOODGD500050000006 C
L) CHB000IBOB000 [e)]
e s
S0 060000000 24 8020003000000 [3¥] [ oy
80000000 80
0003000G0GR00 ©000000W 000 e 1S
QOOOBQQOOGOOOBOGOGDODO 00 O ODODOOODOGOBO DOGDE w
&= 60005001 Lo [ e 1R
060008 oy
560600000, LLE ("]
OQOUOODOODODDDODODOBG X —||| DMG”O”D”O”O“D“ O "nll\
R emaaRsE & — R0 el $
RO E0AD00 008 N [ o8 9503 W
0800066000000 o 0800 » C
C0Ba0000¢ Yn ot o ] - Q
Y4900.600 § 0.0t — m 5000009 -l
cMo“o“o“n“o“o Saot ~ | o = Se8aned: A m
2000G0 DD‘ % 00000000
i 2o 9\
OODQOGDOGOQOOQ s b X ) x x X x X x > x BMOOOOGOOO Q T M
QOUOQDDOEGOGD w 0006000000060 R h
0Q3000
0000 b d Ay ry e LXLLIECY wis
noucnomo”omo“ ) - o = /
s L fes
SESRese; m 3 Q o~ o
s o [E 8 £ = ol \¥|*
000000 wend T 4
A% 0000600, ©vy ﬂ O oz
————1 <2, = &
% e R —— i <€ =z —
Ol L oy 3
SIE 3 3 i
) oz b ©
= WD
L= o 0
e Ao
> = )]
1] a I
T m ™0
7z
0]

SHEATHING

/— DRYWALL
Z EXT

equally spaced between (7 screws total per side jamb).
2. Sidelite assembly screws located 3" from each end and @

centerline (3 screws along head jamb).
3. PVC/Wood Moulding secured w/ 16 GA. X 1" brad nails located 1" from

ends & 10" o.c. mox.

1. Sidelite assembly screws located 6" from each end and 5 more screws

Noftes:

s oftdmla8085 o Trntod0Ra2a0t #0200 duradBa o
oo0g0809680%000300050 58 £ ololnl0g0005000,
086202020862090203090303d b 220008030 803050
pgogodetedoSeSotaonanolodi Bogogasefodododo,
Bedod030200030000000805a0d Blndadaladagodels!
520303090205030 305080503 Popologobogniods!
826908020002090802090203d HC0292030205a3030!
piadoacdedotedoladonolasadiBolodmeolotodalo,
0362030500008 0000080803d HIoddheofadedodo!
pSe508a2050803650, o3eiBRo%08aS0d0!
Be205030200 o 4 p3o20 R8e00 0900 0!
Bodebodnso, 20203d hioSola b obalons
030003000 998200 g2 2
90303002

m HORIZONTAL CROSS SECTION
\5) Outswing shown (Inswing similar)

A\

SEENOTE1

/ 2"\ HORIZONTAL CROSS SECTION
W Outswing shown (inswing similar)

INTERIOR
EXTERIOR

INTERIOR
EXTERIOR

0.15" C-SINK

202080500050 02a 5054
0505030503080 030!
0308030900200 000000084
0Jo2a2080800000
090900000 30000000 808008
a905050505030502030000 0%
0208020200030 0!
0508036000080 0!
02080203000305030303
a80g08a0elaladalo!

m HORIZONTAL CROSS SECTION
\y Outswing shown {Inswing similar)

EXT. k

SHEATHING

/"1 "\ HORIZONTAL CROSS SECTION
W Outswing shown (inswing similar)

- 4

SEENOTE 1

BmpL125-6025-X1\sBumelq - D\(£125-6025 X1) uedo papjo dwi D4 Z19 dO 8.9 - XXXX Al - IQL\su} J0 3daq sexa] - g\LNINVINYIJ ML BWIRY\SIUSID\Z



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

INTERIOR

(0\a(e)

Notes:

1. Sill liem #32 is attached o jombs w/ {3) #8 X 2-1/2" pfh screws at each end.
Sill fem #33 is attached to jambs w/ (2) #8 X 2-1/2" pfh screws at each end.
Sill ltem #34 is attached to jombs utilizing {2) #10 X 2" pph SMS af each end.

2. Sidelite assembily screws located 3" from each end and @ centerline

N\ EXTERIOR

SEE NQTE 1 :
K ) WOOD
D ) CONCRETE
/ 1"\ VERTICAL CROSS SECTION
\U Inswing Sifl
A\ Y
EXTERIOR INTERIOR

(0\an(a2)

SEENOTE 1

D ®

& -z:-.'.-;e}\ . ‘lﬁ}l\g}\‘

e | namn | \

N7

SHITTIHT

0 WOOD

O CONCRETE
/"2 VERTICAL CROSS SECTION

\U Outswing Sill

{3 screws along sill}.

\\

EXTERIOR

(@)

INTERIOR

39

P

SEENOIE1
\%

K ) wOoOD
D ) CONCRETE
/"5 "\ VERTICAL CROSS SECTION

w Outswing Sill

A\ Y

INTERIOR EXTERIOR

SEENOITE 2

6-8.2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

6\
]

v .
va
Tz

K ) wooD

D ) CONCRETE

/"3 "\ VERTICAL CROSS SECTION

w Inswing Sill

A\ \

EXTERIOR /Y
SEENOTE 2 @\

AN

.

INTERIOR

33

K ) wooD
D ) CONCRETE

m VERTICAL CROSS SECTION

w Outswing Sill

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

w
S
oc ng
) ox
R 20
T, S8
<0 I3
so 13 &
P L S)
e B E2
= Li
SRS
4 N YU PV O
Lt
ol |k
0. o
>—
n
%)
Z
Q
2]
o
B
<
a
o
z
oaE: 5/27/21
SCALE:  N.T.S.
DWG. B RW
 |cHK. BY: LFS
DRAWING NO.:
TX—-5211

SHEET _6 ofF 10

© 2021 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

¢ ASTRAGAL
3" (TYP)
4 (P) == | 8 (TYP)
N
| [ T9KT | ;
| - ’“‘“‘“?
| SEE DETAIL 1 o
I~ sHEeT 8) I &
FRAME - ¥ %
MP) ™ HEAD & JAMBS [l
(TYP.) 1 —~
— [ e > B
¥ J
[ — O
- | =T
|
/]
SEE DETAIL 2
- (SHEET 8) H o WOOD —
| CONCRETE
FRAME
— H SILL {TYP.) — b (TYP.)
I L1 L1 ]

14" SIDELITE NOTES:

XX

*ANCHOR NOT REQUIRED FOR DOORS WITH 14" SIDELITES

14 MAX
0.C. (TYP.)

(3) #8x 2-1/2"
PEH WS
JAMB TO HEAD DETAIL
(TYP)
 JAMBS
ASTRAGAL r
3" (TYP.) " ?;;WP')“’ — )
4 (TYP) ‘.»} e F{, “)_1 - 3 (Tvp) —»I -
l lll\ A /llll l
- * || ¥ — — “"“T
1 SEE DETAIL 1 o
Il (sHEeT 8) 3
- — |l - =
HEAD & JAMBS i
(TYP) |
— — H — —
I
[
— - | - | —1
¥
X
_ B 1 me) _
WOOD ||  SEEDETAL2
CONCRETE |/ BHEETS)
- —_ SILL (TYP.) | - —
x J 11 1 L1 1HD 1 JL 1y |
*/ \* */ \*

FRAME ANCHORING

OXXO

e
L]
e
53 2
Ex 5
I -
Bu Ok <]
A
L g N
c l@u-r- ]
S g2 3
2 <298 O
c = R0 =
2 d5C 90
]
D>V) fl
-2 d
Z Oowm o
3 IR, &
o odNs o
O x2Z
T 0 PN
e £mg O
2 25 8
o 50¢ %
r oo g
0
0
i) i§
c
£ §
E X B
o
o
)

CERTIFICATE OF REGISTRATION # F—11852

o
S| 2
B | S
X
o 1S
<0 > =
S EE
¥ o
i 2w
T bl =
=Lg 177}
8 |3 =
U o s I iy
5 14
3 o
l._
o x
& £
&
)
=z
)
\2]
|
o
L
<
a
o
Z
oATE: 5/27/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
T™X—-5211

sHEeT _/ ofF 10

© 2021 R.W. BUILDING CONSULTANTS ING.



- gﬁ'zf“if’?‘llg 3 e
Sorlioléyly, 13 0
o S-S I ; 183 @ o
g, 2 I AREL %¥2 g b3
© o o [ 1OIm Crwig \gle. 4 m» 5o
= = Z = o3 4 GRS e Q0¥ o4
0% 9% el TS P L e Z N G
FS ES oot st g c2 GE2 w
o5 B s, Coizie N 8g 583 2z
_ ]% < L XCATE oS EE g23 00
= = R R Iy 3 382 A%
- L Vs S o 2 - i G
@ SEE HINGE DETAIL hwis e 205 5b
@>@ (TYP.) ] VA & O §§
o —— ] - 3 287 B
N A 5 858 o°
N o 2 - e
RS @ a mao o o 6
-@\@ oc : o
— o) . g
\}\ + - - # 3
= o B H LATCH & DEADBOLT DETAIL 8
= EAL
LATCH & DEADBOLT DETAIL 3 28 af B Mulfipoint Lock
Schlage / Kwikset - == 3 CONCRETE o
P spR ® 5| ¢
% SEE LATCH - woeb o 23 &
3 . ] T S
seeLarch — |1 } & DEADBOLT i =3 |5 w
& DEADBOLT i k b o5 =3 |2 g
DETAIL o I =5 &
= = =4 |42
ey Lo T
o CONCRETE 5 x
[ -
L (e} o
o WOOD @ EHS DETAIL 1 & &
. Muliipoint Lock Strike Plate @ Head -
\E N — f
o o
ASTRAGAL HINGE JAMB ASTRAGAL
Latch and Deadbolt Multipoint Lock ~ =
~ BN
DETAIL 1 g
Coastal Astragal Strike Plate @ Head : )Looljp_o]‘ 2
1/2" HOLE WOOD o &
/ DETAIL 2
CONCRETE " o Inswing
‘ @ W @ W Multipoint Lock Strike Plate @ Sil
\ N
= ,
= = a5
P\ o L] ey e |l &) » > S
/@ - @ /O - [::] ?’ ™
* i >@ o 2l X —— PO —= o
0 [1|@-/—] ~e e/ (:: ) L Z
DETAIL 2 WOOD ggmﬁ, g DATE: 5/27 /21
Inswing , \ \ @ ScAE:  N.T.S.
Coostal Astragal CONCRETE  Astragal Bolt Hole @ il \ \ WOOD o gg_%m% e
Strike Plate @ il - - . - B
HINGE DETAIL HINGE DETAIL CONCRETE o Mulfipoint Lock Strke Plate @ Sil o ov_ LFS
Inswing Outswing DRAWING NO.:
LATCH & DEADBOLT STRIKE DETAILS TX~5211
MULTIPOINT LOCK STRIKE DETAILS s
SHEET 8 oF 10

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

C 2021 R,W. BUILDING CONSULTANTS INC.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

r
R

E 1.53"

T
1

ALUMINUM FRAME

@

Aluminum Impact Lite Frame

EXTERIOR
CELLULAR )
——— 1" THK. GLASS
1/8" TEMPERED GLASS
% 1/2' AIR SPACE
DOW 995 ———

1 N T 0.090" SAFLEX PVB INTERLAYER

_20.88'D.LO.
WIDTH 1/8" ANNEALED GLASS
#10 X 1-1/2" PPH SMS @
INTERIOR SWIGGLE GLAZING SPACER
() GLAZING DETAIL
Aluminum Impact Lite Frame
o _.
2o’

ie
= o DOW 995 GLAZING .
5 | —t COMPOUND 1/2" GLASS BITE
LLi
g NORSEAL CLOSED
5 CELL PVC FOAM
(&)
o~ . Al
b 1/8" ANNEALED GLASS

'A,,f— 0.090" SAFLEX PVB INTERLAYER
:\ 1
#10X 1-1/2" PPH SMS - [:—j/ 1/8" ANNEALED GLASS
J . (TYP] ‘Q—_BLIND INSERT
Y \ AR SPACE
[ 1/8" TEMPERED GLASS
INTERIOR
_{ T FOAM SPACER w/ ALUM INSERT
) - _ __I 410 X 2" PPH SMS NORSEAL CLOSED CELL PVC
" 1 FOAM
;‘P ] L R C) GLAZING DETAIL
(TYp.) - o 1-1/4" Insulated Laminated Glass
= w/ Internal Blinds
ALUMINUM LITE FRAME* 14" SIDELITE NOTESf

3A

(w/ 1" Glazing)

* 1 4" SIDELITE HAS ONLY 2 END SCREWS @ TOP & BOTIOM
*% 1 4" SIDELITE HAS ONLY 1 SCREW @ CL @ TOP & BOTTOM

}<— 1.53" +l

|
o
s

P

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595

7]
o
g
. z-
(9] o7
z Zl
- Y -
- £33 3
. 5 ke
& o S 2 L R g>n Og
= RO S 205 kb
€34, Fila s el 3 Q o
Voo™ @ %3 ol
4 £mg O
g 8. 5°
§ 592 gu
¢ BeT <
m =
AR ALUMINUM FRAME 2 § £
Aluminum Impact Lite Frame g @ §3
3 -
g
. 20.88'D.LO. Y
WIDTH =
[95]
4 x| =
x : LL‘
&.8 EE
o 1s
? =2 13 a8
53 |3 53
FE Ig To
gl 2 |a] @
3 &
8 &
oz <
#10 X 2' PPH SMS o o
TYP.
/ (TYp.) =
f— ____i
& .
i Q__
T O
o LE
2 T 9
&
[v el
o
<€
[&]
o
- =z
o DATE: 5,/27,/21
{TYpP) scae:  N.T.S.
DWG. BY: RW
ALUMINUM LITE FRAME ** ouk. B, LFS
4A — DRAWING NO.:
{w/ 1-1/4" Glazing)
TX—5211

SHEET 9 ofF 10

© 2021 R.W. BuiLping ConsuLTanTs INC.



[FY]
BILL OF MATERIALS . ©» I 456" o o}

ITEM # | DESCRIPTION MATERIAL R 454" S - = £3 9.
A | 2XFRAMING [5G >= 0.42] WOOD Tl | —u e E= @ u¢
C__ [1/4 MAX._SHIM SPACE - s a od g oy
D |1/4"PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL : ——— — v ¢ E2 w
F #10 X 2" PFH WOOD SCREW STEEL f i i 9 §§ z8 s 23
K| #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL fe— 212 —+ | 2.36" | T 388 Bk
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL Zxini el 205 s
P | 3/16" PFH ITW CONCRETE SCREW [1-3/4" MIN. EMBEDMENT) STEEL @ COMPOSITE JAMB @M Manandee® &  ong o
1| COMPOSITE JAMB COMP B Zd, Sy
2 WOOD JAMB (FINGER JOINT PINE ) WOOD | 456" _ ¢ § g2 %;
7 WEATHERSTRIP FOAM 4.56" ' ' . § 82
8 DOOR SWEEP VINYL 5 S E
9 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL § @ ©
10 #10 X 1-1/2" PPH SMS STEEL 8
20 #8 X 2-1/2" PFH WOOD SCREW STEEL
21 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 | #8 X 3/4" PFH WOOD SCREW STEEL .
23 #9 X 3/4" PFH WOOD SCREW STEEL s 1%
24 | #9 X 1" PFH WOOD SCREW STEEL 32 33) QUIWING HRESHOLD >8 %é
25 #9 X 2-1/2" PFH WOOD SCREW STEEL 19 52 gg_
26 #8 X 5/8" PFH WOOD SCREW STEEL I 6" gé o | 2
27 | LATCH STRIKE PLATE STEEL N | ) | o |
28 | DEADBOLT STRIKE PLATE STEEL S i [~ 218 2.13" —| o oe |58

28A | DEADBOLT SUB-STRIKE PLATE STEEL 4 g 4 [ P S S
29 4" X 4" HINGE STEEL /iﬁ_mm ? ‘ P § §t2
30 | LATCH & DEADBOLT STRIKE PLATE STEEL 1 | L 0 f E— o o
32 |INSWING THRESHOLD ALUM/COMP ! { 8 N e R WA %
33 | OUTSWING THRESHOLD ALUM/COMP 34 PUBLIC ACCESS THRESHOLD ° b
34 | PUBLIC ACCESS THRESHOLD ALUM O SIDELITE SPACER & . SIDELITE SPACER
35 SIDELITE SPACER (INSWING) VINYL Inswing s Outswing
36 | SIDELITE SPACER [OUTSWING) VINYL
40 | DOOR PANEL (BOOK] - % /ﬁﬁ ”
41 | DOOR PANEL (HYBRID) - . Z
42| DOOR PANEL (U1) i [ oop o
44 | COASTAL ASTRAGAL (THERMA-TRU] ALUM 5 ' Q
50 | SIDELITE PANEL - S @m
78 | MULTIPOINT LOCK STRIKE PLATE @ HEAD STEEL CONCRETE ANCHOR NOTES; _ . _

79 MULTIPOINT LOCK STRIKE PLATE @ SILL STEEL ) [ igg;rz;; ::g:ct); fq%?tf;??gir?;; -ihe corners may be adjusted to maintain the min.
80 | COASTAL ASTRAGAL STRIKE PLATE STEEL —~— 191" — 2. Concrete anchor locations noted as “MAX. ON CENTER” must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. E
U 3. Concrete anchor table: g
3 ——|~—o00¢" EpGE 2
| arcon® | VA 11 z & o 5/ 5 7T/ sz !
0 sencond 1 RIS T & oW, B RW
— [=—0.13" rarcon®| 31" el AS SHOWN el ﬁifw,il NG~ =
@ COASTAL ASTRAGAL I. ggﬁ?iﬁ%ﬁiﬁﬁmﬁzS%Z%;Ts%nce, 1" end distance, & 1" o.c. spacing of TX-5211
wood screws o prevent the splitting of wood. sHEer 10 oF 10

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5209-5211.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



